Chapter 5. Analyzing Linear Equations

Ex. 5.5

Answer 1CU.
Consider the x,and y, point slope form of an equation

Formulae of Point slope form equation
Y=n =m{-x_-r|)
Here x,and y, are represents the points of a particular line

Here x, and y, represents the coordinates of any point on the graph of a equation

Answer 2CU.
Need to find the error Tanya and Akira wrote the point slope form of an equation for a line
passes through (-2,-6) and (1,6)
Tanya says Akira equation is wrong Akira says both are correct who is correct
Tanya equation is y+6=4(x+2)
Akira equationis y-6=4(x-1)
MNow find the who is correct
Given that the points (-2,-6) (1,6)
Find the slope
m= ¥Ya =W
X, =X
_6-(-6)
1-(-2)
6+6
m=—
1+2
12

3
m=4

m

And slope =4

Point slope form in the form of y-y, = m{x—x,]

Substitute the point [—Zﬁ—ﬁ] in the point slope form then equation we get
y-y=m(x-x)

y=(-6)=4(x-(-2))
y+6=4(x+2)

Substitute the point [l,ﬁ] in the point slope form then equation we get
y-y=m(x-x)
y—6=4(x-1)

Hence the required solution Akira says they are both correct is correct both the point slope
form of an equation for a line passes through the point



Answer 3CU.
Need to write an equation in point slope form and write the point same line in the slope
intercept form

First we need to find the point slope form equation
Assume that the point (-1,2)
And slope m =4

Formulae of point slope form  y—y, =m(x-x,)
Solve the equation we get

y=y=m(x-x)

y=2=4(x+1)

Now we find the slope intercept form

Yy=N =m(x-:r,)

y=2=4(x+1) By distributive property a(b+¢) = ab+ac
y=2=4x+4
y=2+2=4x+4+2 Adding 2 on both sides
v=4x+06

Hence the required slope-intercept form equation is [y =4x+6

Answer 4CU.

Need to find the point slope form of an equation for a line that passes through the each point
with the given slope

Consider the point (1,3)
And the slope p=-2
Formulae of point slope from y -y, =m{:r—x,]

Solve the equation

yY=n =m{x—.r,}
y=3==-2(x-1)

Hence the required solution of point slope form of an equation for a line passes through each

point with the given slope |y—3=-2(x-1)




Answer 5CU.
Need to find the point slope form of an equation for a line that passes through the each point
with the given slope

Consider the point (-1,-2)

And the slope ;=3

Formulae of point slope from y -y, =m(x-x,)
Solve the equation

y=y=m(x-x)

y=(-2)=3(x-(-1))

y+2=3(x+l1)

Hence the required solution of point slope form of an equation for a line passes through each

point with the given slope |y+2=3(x+1)

Answer 6CU.

Need to find the point slope form of an equation for a line that passes through the each point
with the given slope

Consider the point (2,-2)
And the slope =0

Formulae of point slope from y—1y, = m{x—x,]
Solve the equation

y-y,=m(x-x)
y—-(-2)=0(x-2)
y+2=0

Hence the required solution of point slope form of an equation for a line passes through each

point with the given slope [y+2=0

Answer 7CU.
Consider the equation is y-5=4(x+2)

Standard form of equation is in the form of Ax+By=C

Solve the equation we get

y=5=4(x+2)
y-5=4x+8 By distributive property a(b+c) = ab+ac
¥y—y—-8-5=4x+8—y-8 Adding — y—8on both sides
-13=4x-y
dx—y=-13

Hence the required standard equation is |4x -y =-13




Answer 8CU.

Consider the equationis y+3= _E(x—]]

Standard form of equation is in the form of Ax+By=C

Solve the equation we get
3
P Tt
¥ 4[ )

4{y +3} = 4(—%}(1 —I} Multiply 4 to eliminate the fraction

4y+12= —3{,1' —I} Distributive property fr{h + c} =gb+ac
4y+12=-3x+3
4y+12-12=-3x+3-12 Adding —12 on both sides

By simplification we get

4y =-3x-9
Ix+4y=-3x+3x-9 Add 3x on both sides
Ix+4y=-9

Hence the required standard equation is |3x+4y =-9

Answer 9CU.

Consider the equationis y-3=2.5(x+1)

Standard form of equation is in the form of Ax+By=C

Solve the equation we get

y=3= 2.5{x+|]

y—3=25x+25 By distribuiive property u{h +c¢)=ab+ac
y=3-25x4+3=25x-25x+3+25 Adding —2.5x+ 3to each side
y—25x=25+3

By simplification we get

25x=y==55 Multiply -1 on both sides
25xx2-2(y)=2x-55 Multiply 2 on both sides
S5x-2y=-11

Hence the required standard form equation is |5x -2y =-11

Answer 10CU.
Consider the equation is y+6=2(x~2)
Slope intercept in the form of y = mx+b
Solve the equation we get
y+6=2(x-2)
y+6=2(x)+2(-2) By distributive property a(b+c) = ab+ac
y+6=2x-4
y+6-6=2x-4-6 Adding — 6 on both sides
By simplification we get
y+0=2x-10
y=2x-10

Hence the required slope intercept equation is |y =2x-10



Answer 11CU.

Consider the equation y+3= —%[.\*—6]

Slope intercept in the form of y=mx+b

Solve the equation we get

2
+3=-2(x-6
y Tix=)
2 12 s o
y+3= —3{x}+ 5 By distributive property a(b+c) = ab+ac
2
+3i=——x+4
d 3
By simplification we get
y+3—3=—§x+4—3 Adding —3 on both sides
s
+0=—=x+1
d 3
= —EI-I‘I
7773

Hence the required slope intercept equation is |y = _Ex+|

Answer 12CU.
Consider the equation is y_% = %[x_q}

Slope intercept in the form of y=mx+ b

Solve the equation we get

7 1
——=—(x—-4
y-g=(x-4)
7T 1 1 —
y—E = x]—E By distributive property a(b+c¢) = ab+ac
7T 1
—l=ix-2
¥ 2 2
By simplification we get
_}I'—E'l'E:lI—z"I'l Adding L on both sides
2@ 2 ) 2
13
+0==x+—
& >
dar

Hence the required slope intercept equation is yp=—X+—




Answer 13CU.
Consider the parallelogram 4BCD

10
9..
E..
?‘..
E..
5..
A(-13) ¥ B(6.3)
2__
14
0 5 8 7 & 5 4 32 10 1 2 3 45 6 7 0
D(-3.-1) 2l C(4.11)
4+
54
,E..-
B
.a..
g+
0+
Need to write the point-slope form of the line containing 4p
Consider the pointis 4 =(-1,3) and D =(-3,-1)
b=
And slope is m=22—21
X, — X,
Substituting the values we get
= Y2 =N
_1'1 —J.'I
(--6)
=
(3)-(-1)
-4
N = =
-d
m=2
Formulae for the point slope form y—y, :m(x_xl}
Substituting the values we get
_v—3=2(x—{—1))
y=3=2(x+1) By distributive property a(b+¢) = ab+ac

Hence the required point-slope form equationis |y—3 =2[.\'+ 1}




Answer 14CU.

Consider the parallelogram

A(-13) 4 3(6.3)

0 9 8 7

."||:|..

Need to write the standard form of the line containing

10

LB



Consider the pointis 4 =(-1,3) and D(-3,-1)

Y=

X=X

And slope is m=———

Substituting the values we get

m:f_ﬁ

{—') ()
(3} -1)

-2
m=2

Hence the slope is =2

m_

Formulae for the point slope form Ax+ By =C

Substituting the values we get

y=3=2(x~(-1))

y=3=2x+2 By distributive property .:r(h + -:'} =ab+ac
y=3—y=d=2x+2-y-2 Adding — v —2 on both sides
—S5=2x-y
2x—y=-5

Hence the required point-slope form equation is (2x—y=-5

Answer 15PA.
Consider the given point is {313) and slopeis m=2

MNeed to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

Y=y =m{:r—x|:|
Here x, and y, represents the given point
And m represents the slope of the given equation or a line
Letustake x,=3andy =8 and =2
Now substituting these values in y—y, =m(x-x,)
y=y=m(x-x) Point-slope form
y=8= 2{.1‘ —3} Replace y, =8, x, =3 and m=2

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is |y —8=2(x-3)




Answer 16PA.
Consider the point (-4,-3) and the slope is ;=1

Need to write the point slope form of equation for a line passes though each point with the
given slope

Formulae of point slope form of equation for a line passes though each point with the given
slope

y=y=m(x-x)
Here x,and y, are represents the given point

And m represents the slope of the given equation or a line
Letustake x, =—4and y,=-3 and =]

Mow substitute the values in the formulae

Y= =m(x—x) point slope form
y=(-3)=1(x~(-4)) Replace the values x = —4 and y = -3
y+3= 'I(:l: +4:)

Hence the point slope form of equation for a line passes through each point with the given

slopeis |[y+3= I(x+ 4)

Answer 17PA.
Consider the given point is (-1,4] and slopeis pgp=-3

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

Y=y =m{x—x|)

Here x, and y, represents the given point

And m represents the slope of the given equation or a line
Letustake x,=-2andy, =4 and y=-3

Now substituting these values in y—y, =m(x-x,)

y-y=m(x-x) Point-slope form
y—d= '3(1—(-3}) Replace y, =4, x, =-2and m=-3
y-4=-3(x+2)

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is [y —4=-3(x+2)




Answer 18PA.
Consider the given point is [-ﬁ,l) and slope is pm=—-4

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

Y=y =m{x—x|]

Here x, and y, represents the given point
And m represents the slope of the given equation or a line
Letustake x,=—6andy, =1and m=4

Now substituting these values in y—y, =m(x-x,)

y=y, =m(x-x) Point-slope form
y-1= —4{1 -(—ﬁ)) Replace y, =1x, ==6 and m=-4
y=1=-4(x+6)

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is [y —1=—4(x+6)

Answer 19PA.
Consider the given point is (—3,6) and slopeis m=0

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

Y= =m{x—x|)

Here x, and y, represents the given point
And m represents the slope of the given equation or a line
Letustake x,=-3andy, =6 and ;=0

Now substituting these values in y—y, = m{;r—x,]

y=y=m(x-x) Point-slope form
y=6= [}(x-[—E}) Replace y, =6x, =-3and m=0
y=6=0

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is |y-6=0




Answer 20PA.

Consider the given pointis (9,1) and slopeis m =§

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

Y=Mn =m{x—x,}
Here x, and y, represents the given point

And m represents the slope of the given equation or a line

Let us take x, =9 and y, =1 and m=£
3

Now substituting these values in y -y, =m(x-x,)

y-y=m(x-x) Point-slope form
y—l= %(x—{‘i)) Replace y, =1x, =9 and m = %
y-1 =§(.~;—9}

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is |y —1 =§(.r—9)

Answer 21PA.
Consider the given point is [E,—S] and slope is m =%

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

y="n :m{x_xl)
Here x, and y, represents the given point

And m represents the slope of the given equation or a line

Letus take x, =8 andy, =-3 and m=%

Now substituting these values in y—y, = m{x—x,]

y-y=m(x—x) Point-slope form
y—{—?r]:i(x—&i} Replace y, =3 x, =8 and m ;
3
+3=2(x-8
y+3=2(x-8)

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is |y+3= %{T -8)




Answer 22PA.

Consider the given point is [-6,3} and slope is m= —g

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

Y=n =m{-r_-r|]

Here x, and y, represents the given point
And m represents the slope of the given equation or a line

Let us take x,=—6 and y, =3 and m=_§

Now substituting these values in y—y, =m(x-x,)

y-y=m(x—x) Point-slope form
y—3= —%(x—{—ﬁ}] Replace y, =3 x, = —6 and m = —%
y—z.:-%(ﬁa]

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is |y—3 =_§(x+ﬁ]

Answer 23PA.
Consider the given point is [l,—E) and slope is m = _g

Meed to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

y=y=m(x-x)
Here x, and y, represents the given point

And m represents the slope of the given equation or a line

Letustake x,=landy, =-3 and m= _g

Now substituting these valuesin y—y, = m{x—x,]

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is [y +3 =—§{x—l]




Answer 24PA.

Consider the given pointis (9,-5) and slopeis m=0

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

y=y =m{x—x|)

Here x, and y, represents the given point
And m represents the slope of the given equation or a line
Letustake x,=9andy, =-5 and =0

MNow substituting these values in y—y, = m{x—x,]

Y=hKh= m(-‘-‘—-’ﬁ] Point-slope form
y=(-5)=0(x-9) Replace y, =—5 x, =9and m =10
y+35=0

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is |y +5=0

Answer 25PA.
Consider the given pointis (—4,8) and slope is m 7
2

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-slope form of an equation that passes through the point and the slope is
given by

) i ' =m{-r_-r|)
Here x, and y, represents the given point

And m represents the slope of the given equation or a line

Let us take .r,=—4a11dy,=3 and m=%

Now substituting these values in y -y, =m(x-x,)

y-y=m(x-x) Point-slope form
y—8=§(x—{—4]) Replace y, =8 x, —4andm=%
7
—8=—(x+4
y-8=_(x+4)

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is y_g=%|:x+4]




Answer 26PA.
Consider the given pointis (1,—4) and slope is m = _g

Need to write the point-slope form of an equation for a line that passes through the give point
and the slope

Formulae for point-siope form of an equation that passes through the point and the slope is
given by

y=y=m(x-x)

Here x, and y, represents the given point

And m represents the slope of the given equation or a line

Letustake x,=1andy =-4 and m=—§

MNow substituting these values in y—y, = m{x—x,]

y—y =m(x-x) Point-slope form
J’—(—4)= —%[I—l) Replace y, =—4 x, = land m -—%
y+4=—§[r—1}

Hence the required point-slope form of an equation for a line that passes through the given

point and the slope is |y +4 =—§(x—]]

Answer 27PA.
Need to find the point-slope form of an equation for a horizontal line that passes through

Consider the pointis (5,-9)
And slopeis m=0
Formulae for the point slope form y—y, = m{;r—x,]

Substituting the values we get

y=y=m(x-x) point slope form
(}:—(—-Q)):ﬂ(x_ﬂ] x,=5andy,=-9m=0
y+9=0

Hence the required point-siope form equation is horizontal line passes through |y +9=0




Answer 28PA.
Need to find the point-slope form of an equation for a horizontal line passes through
Consider the pointis (0,7)
And slope is m=10
Formulae for the point slope form y—1y = m{x—x,]

Substituting the values we get

y-y= m(x—xl) point slope form
y=7=0(x-0) x=0 y=7 m=0
y=7=0

Hence the required the horizontal line passes through point-slope form equation is

Answer 29PA.
Consider the equationis y-13=4(x-2)

Standard form of equation is in the form of Ax+ By=C

Solve the equation we get

y=13=4(x-2)
y—13=4x-8 By distributive property a(b+¢) = ab+ac
y—y+8-13=4x—-8—y+8 Adding — y+8 on both sides
=3=4x-y
dx—y=-5

Hence the required standard equation is |[4x—y =-=5

Answer 30PA.
Consider the equationis y+3=3(x+ 5]

Standard form of equation is in the form of Ax+By=C

Solve the equation we get

y+3=3(x+53)
y+3=3x+15 By distributive property a(b+c¢)=ab+ac
y=y=15+3=3x+15-y-15 Adding -y —15 on both sides
12=3x-y
Ix—y=12

Hence the required standard equation is (3x -y =12




Answer 31PA.

Need to find the equation in standard form
Consider the equationis y—5=-2(x+6)
Standard form of equation is in the form of Ax+By=C

Solve the equation we get

y-5=-2(x+6)
yp=S==2x-12 By distributive property a(b+c¢) = ab +ac
p=y+12-5==-2x-12-y+12 Adding - v+12 on both sides
T==2x-y Multiply -1 on both sides
2x+y=-17

Hence the required standard equation is |2x+ y =-7

Answer 32PA.
Consider the equationis y+3=-5(x+1)

Standard form of equation is in the form of Ax+ By=C

Solve the equation we get

y+3==5(x+1)
y+3=-5x-5 By distributive property a(b+c¢) = ab +ac
Yy—y+54+3=-5x—5-y+5 Adding — v+ 5 on both sides
B=-5x-y Multiply =1 on bo '
S5x+y=-8

Hence the required standard equation is |5x + y = -8

Answer 33PA.

Consider the equation is y+?=%[x+ 2]

Standard form of equation is in the form of Ax+By=C
Solve the equation we get

y+i= (x+2}
2
2(y+ T]zl[%][x+ 2) Multiply 2 to eliminate the fraction
2y+14=1(x+2)
2y+l4=x+2
By simplification we get
2y=x+2-14
2y=x-12 subtract x from each side
—x+2y=-12 multiply each side by -1
x—2y=12

Hence the required standard equation is |x -2y =12




Answer 34PA.
Consider the equation is y—1= %{x—ﬂ

Standard form of equation is in the form of Ax+By=C

Solve the equation we get
5
-l1==(x-4
pilmef o4
3 . P
ﬁ[_p—l}:fu 3 [,r—ii) Multiply each side by 6

6y-6=5(x-4)
6y-6=5x-20
By simplification we get
6y=5x-20+6
by=5x-14 Subtract 5x from each side
—Sx+b6y=-14 Multiply each side by -1
Sx—o6y=14

Hence the required standard equation is |Sx-6y =14

Answer 35PA.

Consider the equationis y-2= _g(x -8)

Standard form of equation is in the form of dx+By=C

Solve the equation we get

y—2=—§(x—8]

5(}‘—2) = 5[—%)(:{-3) Multiply each side by 6
S5y-10=-2(x-8)

5v=-10=-2x+16
By simplification we get
Sy=-2x+16+10

Sy+2x=-2x+2x+26 Add 2x from each side
2x+5y=26

Hence the required standard equation is |2x+5y =26




Answer 36PA.

Consider the equationis y+4 = ——;[x— 12)

Standard form of equation is in the form of Ax+By=C

Solve the equation we get

y+4=—%[r—ll)

3(_}? +4) = 3[-%](1-]2) Multiply each side by 3

3y+|2=—|[x—|2)
Jy+12==x+12 Adding -12 on both sides
3y+12-12==x+12-12

By simplification we get

3y+0==x+0
Jy+x==x+x+0 Adding x on both sides
x+3y=0

Hence the required standard equation is |x+3y =0

Answer 37PA.

Consider the equation is y+2 =§{x +45}

Standard form of equation is in the form of Ax+By=C

Solve the equation we get

y+2=§{x+6}

3(_}'+ 2]=3[§-J(x+ 6] Multiply each side by 3
3_}r+6=5(.r+ 6)
3y+6=5x+30
By simplification we get
3y+6-6=5x+30-6 Adding —6 on both sides
3y=5x+24
=Sx+3y=5x-5x+24 Add -5x from each side
=5x+3y=24 Multiply =1 on both sides
5x=-3y=-24

Hence the required standard equation is |5x -3y =-24




Answer 38PA.

Consider the equation is y+6= %{x—dl}

Standard form of equation is in the form of Ax+ By=C

Solve the equation we get

y+ﬁ=%[r—4]

3
2“’*5):2(5]“'4}
2y +12=3(x-4)
2y+12=3x-12
By simplification we get
2y=3x-12-12
2y=3x-24
-3x+2y=3x-3x-24
=3x+2y=-=-24
3x-2y=24

Hence the required standard equation is

Answer 39PA.

Multiply each side by 2

Add =3x from each side

Multiply —1 each side

3x-2y=24

Consider the equationis y-6=1.3(x+7)

Standard form of equation is in the form of dx+ By=C

Solve the equation we get
y—b6= 1.3(x+'?:|
y—6=13x+9.1
y=6=-13x+6=13x-13x+6+9.1
y=13x=9.1+06
By simplification we get
-13x+y=135.1
1.3xx10=10x% y ==15.1x10
13x =10y =-151

Hence the required standard equation is

By distributive property a (b +¢) = ab+ac

Adding —1.3x + 6to each side

Multiply =1 on both sides
Multiply 10 on both sides

13x=10y =-151




Answer 40PA.
Consider the equation is y-2=-2.5(x-1)
Standard form of equation is in the form of Ax+By=C

Solve the equation we get

y=2==2.5(x-1)

y=2==25x+2.5 By distributive property a (b + ¢)=ab+ac
y=2+423x+2=-25x+25x+2+25 Adding —1.3x+ 6to each side
yx10+25xx10=2.5+2x10 Muluply 10 on both sides
25x+10y =45

Hence the required standard equation is |25x+10y =45

Answer 41PA.
Consider the equation is y-2=3(x-1)
Slope intercept in the form of y=mx+b
Here m represents the slope of the given line
And p represents the y-intercept

Solve the equation we get

y=2=3(x)+3(-1) By distributive property a(a+c)=ab+ac
y=2=3x-3
y=2+4+2=3x-3+2 Adding 2 on both sides
y+0=3x-1
y=3x-1

Hence the required slope intercept equation is [y =3x-1

Answer 42PA.
Consider the equation is y—5=6(x+1)

Slope intercept in the form of y=mx+b

Solve the equation we get

y=5=6(x)+6(1) By distributive property a(a +c) = ab + ac
y=5=6x+6
y=5+3=6x+6+5 Adding 5 on both sides
y+0=6x+11
y=6x+11

Hence the required slope intercept equation is |y =6x+11




Answer 43PA.
Consider the equation is y+2=-2(x-5)

Slope intercept in the form of y=mx+b

Solve the equation we get

y+2=-2(x)-2(-5) By distributive property a (b + ¢) = ab+ac
y+2==2x+10
y+2=2==2x+10-2 Adding -2 on both sides
y+0==-2x+8
y==-2x+8

Hence the required slope intercept equation is |y =-2x+8

Answer 44PA.
Consider the equation is y~-1=-7(x-3)

Slope intercept in the form of y=mx+b

Solve the equation we get

y—-1==7(x)-7(-3) By distributive property a(b+¢) = ab+ac
y=1==T7x=-21
y=l+l1==7Tx+21+1 Adding 1 on both sides
y+0=-Tx+22
y=—Tx+22

Hence the required slope intercept equation is [y =-=7x+22

Answer 45PA.

Consider the equation is y+3=%{x+4}

Slope intercept in the form of y=mx+h
Solve the equation we get
1
y+3= E[x-:- 4)

y+3=%[x}+% By distributive property a(b+c) = ab+ac

1
+3=—x+2
¥ 2
By simplification we get
y+3—3=%x+2—3 Adding -3 on both sides

1
+0=—x-1
¥ 2

y—lx—l
2

Hence the required slope intercept equation is |y=—x-1




Answer 46PA.

Consider the equation is y—1] =§[.\:+9]

Slope intercept in the form of y=mx+b

Solve the equation we get

1 s g g
y=1= %(r)+?8 By distributive property a(b+¢) = ab+ac

2

~l==x+6
X 3

y—=1+1 =§x+ 6+1 Adding | on both sides

2

+0=—x+7
S
2

=—x+7
r73

Hence the required slope intercept equation is |y =§x+?

Answer 47PA.

Consider the equationis y+3= —i[.r+ 2)

Slope intercept in the form of y=mx+b

Solve the equation we get

y+3= —%(r)—% By distributive property a(b+¢) = ab+ ac
1 I
+3=——x——=
S 4 2
1 | : .
y+3—3=—;r—5-3 Adding -3 on both sides
1 7
'+ 0=—-—x——
! 272
PP
FETR 3
Hence the required slope intercept equation is |y =_%x_%




Answer 48PA.

Consider the equationis y-5= _E[JH. 15]

Slope intercept in the form of y=mx+b

Solve the equation we get

y—5=—§ x]—? By distributive property a(b+¢)=ab+ac
2
—3=——x-6
o 5
y—5+5=—§x—6+5 Adding 5 on both sides
2
'+ 0=——x-1
¢ 5
2
=——x-1
Y 3
Hence the required slope intercept equation is |y = —%x—]

Answer 49PA.

Consider the equation is _}!+% = [r-%]

Slope intercept in the form of y=mx+b

Solve the equation we get

_},+i l:r_l 1 Adding 3 on both sides
2z 2 2 2 2
y+0=x-1

y=x-1

Hence the required slope intercept equation is ¥y =x-1




Answer 50PA.

Consider the equation is y—% = —1(x+ %]

Slope intercept in the form of y=mx+b

Solve the equation we get

¥ ‘% ==2(x) -% By distributive property a(b+c¢)=ab+ac
J"% +% =-2x -§+% Adding %un both sides
1
v+0= —Zx—g
I
y= —Ex—i

Hence the required slope intercept equation is ¥ =—25——

Answer 51PA.

Consider the equation in slope intercept form y+% = —3[1+%J

Formulae of slope intercept form y =mx+b

Solve the equation we get

y+%=—3(:{+%]

y+£= —E-x—% By distributive property a(b +c) = ab + ac
_1,+l_l = —fﬂn.:c'—é—l Adding e on both sides
4 4 2 4 4

Hence then required the equation slope intercept form |y = —3:—%




Answer 52PA.

Consider the eguation is _}:+% = —4[1 -%)

Slope intercept in the form of y =mx+b

Solve the equation we get

3 1
e ——
}r+5 [Jr 2]

y+% = —4[x)+% By distributive property a(b+c¢) = ab+ac

y+%=-—4x+2
By simplification we get
y+§—§=—4x+2—% Adding —%{m both sides
7
y =_4I+E
Hence the required slope intercept equation is |y =—4.r+%

Answer 53PA.

Point slope form
Need to find the point slope form an equation for a line passes through given point and slope
Consider the point (5,~3)
And slope =10
Formulae of point slope form y—y, = m{x—x,}
Substitute the values we get

y—y =m(x—x)
y-(-3)=10(x-5)

y+3=10(x-5)

Hence required equation line passes through point slope form is [y +3 = llJ(x—S]




Slope intercept form
Need to find the slope intercept form an equation line passes through the given point and slope
Consider the point (5,-3)
And slope m=10
Slope- intercepts equation in the form of y=mx+b
y—y =nm(x-x)
y—(-3)=10(x-5)

y+3=10(x-5) By distributive property a(b+¢) = ab+ac
v+3=10x-50

By simplification we get

y+3-3=10x-50-3 Adding -3 on both sides

y=10x-53

Hence the required an equation for a line passes through slope intercept form |y =10x-53

Standard form

Need to find the standard form of equation for a line passes through to the given point and
slope

Consider the point (5,-3)
And slope m=10
Standard form equation is in the form of 4Ax+ By =C

y=(-3)=10(x-3)

y+3=10(x-5)

y+3-y+50=10x-50+50-y Adding - y+50 on both sides
53=10x-y

10x—y=253

Hence the required standard form of equation line passes through |10x -y =53




Answer 54PA.
Point-slope form

Need to find the ] line passes through point slope form of an equation for line

Consider the } line passes through point [lj—ﬁ)

And slope m =%

Point slope form in the form of y—y, -m(x-xl)

y=(-6)=3(x-1)

y+6=%{:x—l]

Hence the required [ line passes through point slope form equation

Slope intercept form

y+6 =%{I—|}

Need to find the J line passes through slope intercept form of an equation for line

Consider the [ line passes through point (lj—ﬁ}

And slope m =%

Slope intercepts form in form of y=mx+ b

Solve the equation we get

3
r~(-6)=2(x-1)
y+6=%{x—l]
3
6=2x-=
P Ex 2

Hence required [ line passes through slope intercept form equation is

By distributive property a(b+c) = ab + ac

Adding

6 on both sides




Standard form

Need to find |} line passes through standard form of an equation for line
3
And slope m= E

Standard form equation in the form of Ax+ By =C

Solve the equation we get
3

r-(-6)=3(x-1)
v+6 =§[I—]]
2(_}'+6]=2(%][.r-l) Multiply 2 on both sides

2(y+6)=3(x-1)

By simplification we get

2v+12=3x-3 By distributive property u(h +('} = ab+ ac
2y=2y+3+12=3x-343-2y Adding —2y+3 on both sides
15=3x=2y

Ix=2y=135

Hence the required [ line passes through standard form equation |3x -2y =15

Answer 55PA.

Given that the home security systems for $ 5 per week plus installation fee and the fee for 2
weeks of service is § 210

Need to write the point slope form of an equation and find the total fee y for any number of
weeks x

Point slope form in the form of y -y, =m(x-x,)
The values of x, =12 andy, =210 m=35
Now substitute the values in point slope form equation
y=y=m(x-x)
y=210= E(x -1 2) By distributive property a (b +¢) = ab+ac
y=210=5x-60

Hence required solution point slope form equation |y —-210=5x-60




Answer 56PA.

Given that the home security systems for $ 5 per week plus installation fee and the fee for 12
weeks of service is § 210

Meed to write the point slope form of an equation and find the total fee y for any number of
weeks x

Point slope form in the form of y=mx+b
Thevaluesof x, =12andy, =210 m=35

MNow substitute the values in point slope form equation

Y=W" =m(.x-:c|)

y=210=5(x-12) By distributive property a(b+c¢) = ab+ac
y=210=5x-60
y=210+210=5x-60+210 Adding 210 on both sides
y=5+150

Hence required solution point slope form equation |y =5x +150

Answer 57PA.
Given that the home security systems for § §per week plus installation fee and the fee for 12
weeks of service is $ 210

MNeed to write the point slope form of an equation and find the total fee yfor any number of
weeks x

Point slope form in the form of y=mx+b
The values of x,=12and », =210 m=35

Now substitute the values in point slope form eguation

L =m(‘r—‘rl)

y-210=5(x-12) By distributive property a(b+¢) = ab +ac
y=210+210=5x-60+210 Adding 210 on both sides
y=>5x+150

Here the equation is y = 5x+150 and the flat fee is of this equation is 150

Hence the required solution of the flat fee installation of the equation is



Answer 58PA.
Consider to find the point slope form of an equation

o

a0+

MNumber(thousands)

0%

=

g0 0 1992 199

Year

S 1996 1998

In above graph the points of the slope (x,,y,) is (1996,29690)

And the slope of the equation is g =1500

Formulae of point slope

y=n =m(1_-r|]

Substitute the values [x.,y]]z[lg%.,z'?ﬁ?ﬂ]mz 1500 in the point slope form

y-y,=m(x—x) Point slope formula

¥ =29690=1500(x-1996)

Hence the required solution of the point slope form

¥—=29690 = 1500(x~1996)




Answer 59PA.
Consider to find the slope intercept form of equation

¥

a0+

20+

Number(thousands)

107

=i

90 1982 193 198 1988 2000

Year

In above graph the points of the slope (x,,y,) is (1996,29690)
And the slope of the equation is i =1500

Formulae of point slope

Y=y =m[x-x|}

Slope-intercept form in the form of y=mx+b

Substitute the values [x”y]]z[lg%ﬁzgﬁ?ﬂ]m: 1500 in the point slope form

¥—29690 =1500(x-1996) By distributive property a(b+c)=ab+ac
¥ —29690 =1500x — 2994000
¥ =29690+ 29690 = 1500x — 2994000 + 29690 Add 29690 on both sides
v =1500x-2964310

Hence the required solution of the slope-intercept form |y =1500x - 2964310




Answer 60PA.
Consider the predict the number of movie screens in the united states in 2005

o’

30T

MNumber({thousands)

101

=iphy

g0 1992  19%4 1% 1998 2000

Year

Use the equation y=1500x-2964310 and x is the number of years and ¥ is the number
of thousands

And the slope of the equation is g =1500
Formulae of point slope
y=y=m(x-x)

Slope-intercept form in the form of y=mx+ b



Substitute the values [g,yd:(l@@ﬁj%@ﬂ]m: 1500 in the point slope form

¥ —29690 =1500(x -1996) By distributive property a(b+¢) = ab+ac
¥=29690 =1500x — 2994000
y=29690+ 29690 =1500x — 2994000 + 29690 Add 29690 on both sides
v=1500x-2964310

Hence the required solution of the slope-intercept form |y:15{}{}x-29643lﬂ
Let us take x = 2005

Substitute the value x=2005 in the equation

¥ =1500(2005)-2964310

v =3007500 - 2964310
y=43190

Hence the required solution of the predict the number of screens in 2005 is [y =43190

Answer 61PA.
Consider the point slope form line containing the each side

Consider the points

P(1,3)

0(3.-1)

R(-1,-3)

5(-3.1)
i
a}
8}
74
61
51
4}

$(-3,1) | P(1,3)

V.

4 5 6 7 8 9 10
2(3-1)

o 49 8 7 6 5 -4

R(-1-3)

o dn

104




Consider to find the four diagonals of the square

—— — — —

OP,RO,PS.RS
Slope formula

o= 3
m=22_2
Xy =X

Find the slope Q =(-3,-1),P(1,3)

1-3
4
m=—
-2
m=-2

And the slope pp=-2
Formulae of point slope form
L :m{'r_'rl]
Substitute the values [xl,y]] = [I,E]andm =-2 in the point slope formula

y—y,=m(x—x)) Point slope formula
y=3=-2(x-1)

Hence the required solution of the point slope form |y —3=-2(x-1)

Then now find the diagonals of RO
Formulae of slope

doo— g
m=22_%
Xy =X

Find the siope R(-1,-3)Q(3.-1)

1-(3)

3-(-1)

143

m=
4

2
m=—

4

1
m=—

2

And the slope m =%

Formulae of point slope form

L =m{-r_-r|}



Substitute the values [_1:.,}:1] =[-I‘—3] and m =12 in the point slope formula
y=—y=m(x-x) Point slope form

1
y=(-3)=3(x~(-1)

1
3=—(x+1
V+ 2I:Jc'+:|

Hence the required solution of the point slope form |y +3 =

Then find the diagonals of pg
Formulae of slope
m= Ya— W

A =4
Find the slope R(-1,-3),5(-3,1)
_1-(3)
- 4-{-1)

n

1+3
m=
-3+l
4
m=—
=2
m=-2

And the slope = -2
Formulae of point slope form
y=y,=m(x-x)

Substitute the values (x,y,)=(=1,-3) and = -2 in the point slope formula

y=y,=m(x-x) Point slope formula
y=(=3)=-2(x~(-1))
y+3=—2{x+l)

Hence the required solution of the point slope form |y+3 = —2{:-: + l}




Then find the diagonals of pg

Formulae of slope

i Y =¥
X=X

Find the siope  P(1,3),5(-3,1)

1-3

m=——

-3-1

-2
m=—

|
m=—

2

And the slope m =é

Formulae of point slope form
y=y,=m(x-x)
Substitute the values (x,,y,)=(=1,-3) and m=-2 in the point slope formula

y=y, =m(x-x) Point slope formula

_P—3=12[,r—l}

Hence the required solution of the point slope form [y -3 = %{xq}




Answer 62PA.

Need to find the point slope form line containing the each side

Consider the points
P(1,3)

0(3,-1)
R(-1,-3)
S(-3.1)

5(-3,1)

F(L3)

m 9 8 7 6 5 4

R(-1,-3)

104

5 5
0(3-1)

6

10

Ve



Consider to find the four diagonals of the square

— — — —

OFP,RQO, PS5, RS
Slope formula

j e
m=}:: Y
X=X

Find the slope Q =(-3,-1),P(1,3)

1-3
4
m=—
=2
m==2

And the slope jmp=-2

Formulae of point slope form
y=y=m(x-x)
Slope-intercept form in the form of y=mx+b

Substitute the values (x,,y,)=(1,3)andm =-2 in the point slope formula

y=3=-2(x-1) By distributive property a(b+¢) = ab+ac
y=3==2x+2
y=343==2x+2+3 Adding 3 on both sides
y==2x+5

Hence the required solution of the slope-intercept form |y =-2x+5

Then now find the diagonals of RQ
Formulae of slope

m= J’z _J’t

X =X

Find the slope R(-1,-3)Q(3.-1)



-1+3

m=
4

2
m=—

4

|
m=—

Z

And the slope m= l

Formulae of point slope form

y=y=m(x-x)

Substitute the values (x,,y,)=(-1-3) and m =% in the point slope formula

y=(3)=5(x~(-1)

y+3 =%{x+l] By distributive property a(b+c) = ab+ac
1 1
+3=—x4+=
X 2 2
y+3- 3':%,1'-4‘%—3 Adding -3 on both sides

By simplification

15
y 2

Hence the required solution of the slope-intercept form ] 2

Then find the diagonals of gg

Formulae of slope

o— 3
m=32_N

X, =X,

Find the slope R(-1,-3),5(-3,1)

_1-()
3-(1)
_ 13
-3+1
4
m=—
-2
m=-2

And the slope m=-2



Formulae of pDint 5|D|:|E' form
L =m{x—x,]

Substitute the values [xl,y]]z[-I,-EJ and jy=-2 in the point slope formula

y=(=3)=-2(x~(-1))

y+3==2(x+1) By distributive property a(b+¢) = ab+ac
y+3==-2x-2
y+3-3=-2x-2-3 Adding -3 on both sides

By simplification

y==2x-5

Hence the required solution of the slop-intercept form |y =-2x-=5

Then find the diagonals of pg
Formulae of slope

-3
m=22"%
Xy =X

Find the slope P(1,3),5(-3,1)

1-3

m=——

—3-1

-2
m=—

1
m=—

2

And the slope m =%
Formulae of point slope form
y=y=m(x-x)

Substitute the values (x,,»,)=(=1,-3) and m=-2 in the point slope formula

y=3= %I:x— 1) By distributive property a(b+¢) = ab+ac
(I
o W = el
YRS
1 : .
y=3+43= EI_IE+3 Adding 3 on both sides
o 2

Hence the required solution of the slope-intercept form y= —_‘-f-i-%




Answer 63PA.

Consider the point slope form line containing the each side

Consider the points
P(1,3)

0(3.-1)
R(-1,-3)
S(-3.1)

5(-3,1)

P(13)

0 39 8 7 § 5 4

R(-1,-3)

104

i+ 5
0(3-1)

3

10

LB



Consider to find the four diagonals of the square

— — — —

OP,.RO,PS.RS
Slope formula

m= _1’1 _J’t

X =X

Find the slope Q =(-3,-1),P(1,3)

1-3
4
m=—
-2
m==2

And the slope pp=-2

Formulae of point slope form
L =m{-r_-r|}
Standard form in the form of y=mx+b

Substitute the values [;r”y]] = [LE}andm = =2 in the point slope formula

p=3m=2{x=1) By distributive property a(b +¢) = ab + ac
y=3=-2x42
yp=3-y-2=-2x+2-y-2 Adding - y -2 on both sides
-2x-y=-5

By simplification

2x+y=5 Multiply =1 on both sides

Hence the required solution of the standard form equation is [2x+ y =5

Then now find the diagonals of RO
Formulae of slope

doo— 3t
m=22"N
=X

Find the slope R(-1,-3)Q(3.-1)

m=_1_(_3}
3-(-1)
-1+3
=
4
2
m=—
4
1
m=—
2

And the slope m =%

Formulae of point slope form

y=mn Zm{x_-rl)



Substitute the values |:_r|,,y1] =|:-|_—3] and m =é in the point slope formula

y=(-3)=5(x=(-1))

v+3= %{x+ 1) By distributive property a(b + ¢ ) = ab + ac
1 . .
2(_}-’+ 3] = E[EJ[I-‘- I:I Multiply 2 on both sides
2y+6=x+1

By simplification

2y+6=-2y=l=x+1-2y-1 Adding -2y -1 on both sides
S5=x-2y
x=2y=5

Hence the required solution of the point slope form (x=2y =35

Then find the diagonals of g
Formulae of slope

doo— g
m=22"%
-X

'rl ]

Find the slope R(-1,-3),5(-3,1)

L 1-(3)
3-()
1+3

m=
-3+1
4

m=—
=2
m=-2

And the slope pp=-2

Formulae of point slope form

y=n =m{-r_r|]

Substitute the values [_rl,y1] = [_]‘—3] and gy =-2 in the point slope formula

y=(-3)=-2(x~(-1)

y+3==2(x+1) By distributive property a(b +¢)=ab +ac
y+3=-2x-2
y+3-y+2=-2x-2-y+2 Adding - v+ 2 on both sides

By simplification

5==2x-y

-2x-y=5

2x+y=-5 Multiply —1 on both sides

Hence the required solution of the point slope form



Then find the diagonals of pg

Formulae of slope

L
m=22"2
X=X

Find the slope  P(1,3),5(-3,1)

1-3

m=

-3-1

-2
m=—

—4

|
m=—

2

And the slope m= l

Formulae of point slope form

y-»=m(x-x)

Substitute the values {xl,y1]=|:-|‘—3] and p = =2 in the point slope formula

y+3= 3(1 +1) By distributive property a(b+c) = ab+ac

2[y+ 3] = 2[%]{x+ l:i Multply 2 on both sides

By simplification

2y+6=2y=l=x+1=-2y-1 Adding -2y -1 on both sides
S=x-2y

x=2y=35

Hence the required solution of standard form equationis |x—-2y=35




Answer 64PA.

Consider the line of the points (9,1)and (5,5)
And find the convincing argument that the same line intersects the x axis at [ll],l’.‘l]
And find the slope of the points (9,1),(5,5)
Slope formula
Ya— W

m=-—
X=X

Substitute the values in the slope formula solve the equation

m=22"% Slope formula
Xy =4
5-1
m=—
5=9
4
m=—
—4
m=-1

And the slope m=-1

Point slope formula

}’_.};1=m[x_-r|}

Slope-intercept form in the form of y = mx+b

Substitute the values (x,,»)=(9,1)andm = -1 in the point slope formula

y—1=-1(x-9) By distributive property a(b +c¢) = ab+ac
y=l==x+9
y=l+l==x+9+1 Adding 1 on both sides
y==x+10

Hence the solution of slope-intercept form y=—-x+10

Let us take y=0

Substitute the y= 0 in the slope intercept form equation

y==x+10 Original equation
0=—x+10 Replace y =0
x=10 Add x on both sides

Hence the required solution it satisfies the convincing argument the same line intercepts the x
axis at (10,0)



Answer 65PA.
Consider the use the slope formula to write an equation of a line

And explanation of how you can use the slope formula to write the point-slope form

Formulae of slope

R T
m=22"N
Xy =X

Assume the points
(2,1) and (3,4)

Substitute the values (x,,y)=(2,1) and (x,,y,)=(3,4) in the slope formula

m=.}’1_.}'rt
Xy =X
4-1
m=—
3-2
3
m==
|
m=3

And slope m=3

Formula of point slope form
B =m{-r_-r|)
In the point slope form formula m is the slope

Here x isthe x coordinate and y isthe » coordinate
And the {x”_yl) is represents the points
Solve the equation

y-y=m(x-x) Point slope formula

y=1=3(x-2) By distributive property a(b+¢)ab + ac

Hence the required solution is in the of point slope form



Answer 66PA.

Need to find the equation line passes through the neither passes through the point [ﬂ,l] and
the slope 3

(A)-2x+y=1

(B)y+1=3(x+6)

(C)y-3=3(x-06)

(D)x-3y=-15

Here given above the four multiply choices the option [B]and (C] conformal passes through
the given point because the slope 3 is passing through the point
And the option [A}— 2x+ y =1 solve the equation in the slope form

=2x+y=1

=2x+2x+y=1+2x Adding 2x on both sides
y=2x+1

Use the equation y =2x+1 substitute the point y =() solve the equation
y=2x+I

y= 2(0}+]

=l

Hence this is also not correct answer

And the option [D) x =3y =-15solve the equation in the slope form

x=3y=-15
x=-3y—-x=-15-x Adding —x on both sides
—3y=—x-15
-, Y= _—l.r il Divide —3on both sides
-3 -3 -3

By simplification

1
==x-3
Y=3

Substitute the values the point (ﬂ.,]] in the equation and solve the equation

y=%x—5 Original equation
y=%{ﬂ}—5 Replace x =0
y=-3

Hence the required solution of the line that neither passes option (D}x—fiy =15




Answer 67PA.
Need to write the slope intercept form of an equation of a line that passes through the [2,—5)
Consider the line that passes through the point [2,—5)
Formula of point slope form  y — y, =m{x—x,]
Substitute the line passes through the point [2,-5) in the point slope formula

Solve the equation
y-y=m(x-x,) Replace x, = 2and y, = -5
y=(-5)=m(x-2) By distributive property a(b+c¢) = ab+ac
v+5=mx-2m
y+5=5=mx-2m-35 Adding -5 on both sides

By simplification we get
y=mx-2m->5

Hence the required solution of the slope intercept form of an equation of a line that passes

through the |y =mx—-2m-35

Answer 68PA.



Consider the three different pairs of points from the graph write the slope intercept form of the
line using each pair

Draw the graph

Y-

0 9 8 7 & 5

Findthe 4R and AC and AD
First we find 4 slope

Slope formula

-
m=22"%
Xy =Xy
Substitute the values x, =-1,x, =0,y, =3,y, =1 in the slope formula solve the equation we

get



Y:— W

m=
Xy =X
o 1-3
S 0-(-1)
-2
m=—
1
m=-=2

MNow the slope the line = -2

Slope intercepts form in the form of y=mx+5
Formulae of point slope form  y—y, =ml::r—.r|)

Substitute the values x, =-1,), =3,m =-2 in the point slope form and solve the equation we

get
y=3=-2(x~(-1))
y=3= -—2[::::+l] By distributive property a|b+¢) = ab+ ac
y=—3=-2x-2
y=3+3=-2x-2+3 Adding 3 on both sides
yv==2x+1

Hence the required solution is in the form of slope intercept form |y =-2x +1I
Next we have to find the 4(C slope

Slope formula

L
m=22"N
X, =X
Substitute the values x, =-1Lx, =1,y =3,y, =-1 in the slope formula solve the equation we
get
m=.}'z_yi
X=X
—
1-(-1)
-4
m=—
2
m=-=2

Now the slope the line yp=-2

Slope intercepts form in the form of y=mx+ b

Formulae of point siope form  y -y, =m(x~-x,)

Substitute the values x, =—1,y, =3,m =-2 in the point slope form and solve the equation we
get
y=3=-2(x—(-1))
y-3=-2(x+1) By distributive property a (b +¢) = ab + ac
y=3=-2x-12
y=3+3=-2x-2+3 Adding 3 on both sides
y=—2x+1

Hence the required solution is in the form of slope intercept form



Next we have to find 4p slope

Slope formula

J’rz _.FL

X =X

m=

Substitute the values x, =—1,x, =2,y =3, y, =-3 in the slope formula solve the equation we

get
= Ya— W
Ay =X
o -3-3
2-(-1)
-6
m=—
3
m==2

Now the slope the line gy = -2

Slope intercepts form in the form of y=mx+b

Formulae of point slope form  y—y, =m{;r—x,]

Substitute the values x, =-1,y =3,m=-2 in the point slope form and solve the eguation we
get

y=3=-2(x~(-1))

y=3= HZ[:::+I] By distributive property a(b+¢) = ab+ ac
y—3=-2x-2
yp=3+3=—2x-24+3 Adding 3 on both sides
y==2x+1

Hence the required solution is in the form of slope intercept form |y =-2x+1

Hence the required solution the slope intercept form equation and the slope of the equation all
the equations are same

Answer 69PA.
Need to find how the equations are related

Consider the three different pairs of points from the graph write the slope intercept form of the
line using each pair

Draw the graph



¥

10 9 8 7 6 5

Consider the different pairs of

points are

A=(-1,3),B=(0,1),C=(1,-1),D(2,-3)

Find the AR and AC and AD
First we find 45 slope

Slope formula

_ MY

X, =X

m

Substitute the values x, =1

£

x, =0,y, =3, 3, =1 in the slope formula solve the equation we



get

m= Y= ¥
Xy =X
= 1-3
0-(-1)
-2
m=—
l
m==2

Mow the slope the line jp=-2

Slope intercepts form in the form of y=mx+b

Formulae of point slope form  y -y, =m[:r—x,}

Substitute the values x, =—1,y, =3,m =-2 in the point slope form and solve the equation we
get

y=3=-2(x—(-1))

y=3=-2(x+1) By distributive property a(b+c )= ab + ac
y—3=-12x-12
y=3+3=-2x-2+3 Adding 3 on both sides
y==2x+1

Hence the required solution is in the form of slope intercept form |y =-2x+1

Mext we have to find the 4 slope

Slope formula

y —
m=22"M
A =X

Substitute the values x, =-1,x, =Ly, =3, », =-1 in the slope formula solve the equation we
get



m:
X=X
o _-1-3
C1-(-1)
_4
m=—
2
m=-=2

Now the slope the line p=-2

Slope intercepts form in the form of V=mx+ b
Formulae of point slope form y—y, =m{x—x,]

Substitute the values x, =—1,) =3,m =-2 in the point slope form and solve the equation we

get
y=3=-2(x—(-1))
y=3= -—2(x+|] By distributive property a|b+c¢) = ab + ac
yp=3=—2x-2
y=3+3=-2x-243 Adding 3 on both sides
y==2x+1

Hence the required solution is in the form of slope intercept form m

Next we have to find 4 slope

Slope formula

ro— 3
m=22"N

X=X
Substitute the values x, =-1,x, =2,y =3,y, =-3 in the slope formula solve the equation we
get

Y2 =W
X=X
_ -3-3
%2
-6
m=—
3

m=-2

m=

Mow the slope the line pp=-2

Slope intercepts form in the form of y =mx+ b
Formulae of point slope form y -y, =m(x-x,)

Substitute the values x, =—1, ¥, =3,m=-2 in the point slope form and solve the equation we

get
y-3=-2(x—(-1))
y=3= —2[:x+l] By distributive property a(b+¢) = ab+ac
y=3=-2x-2

P=34+3=-2x-243 Adding 3 on both sides

y==-2x+1

Hence the required solution is in the form of slope intercept form m

Hence the required solution the equations are related to slope intercepts form equation and the
slope of the equation all the equations are same



Answer 70PA.
Meed to choose a different pair of points from the graph and predict the equation of the line
determined by these points check the conjecture

Consider the different pairs of points from the graph write the slope intercept form of the line
using each pair

Miran
LI avy

-
=
I

LB

0 9 8 7 £ 5

Consider the different pairs of points are
A=[—1,3],B=({},I]

Find the 4R

First we find 4pg slope

Slope formula

Fo— 3
m=22"%
X, = X,



Substitute the values x, =-Lx, =0, y, =3,y, =1 in the slope formula solve the equation we

get
m:.}"z_.]"t
X=X
. 1-3
0-(-1)
-2
m=—
l
m=-=2

Now the slope the line = -2

Slope intercepts form in the form of y=mx+b

Formulae of point slope form  y—y, =m(x-x,)

Substitute the values x, =—1,), =3,m =-2 in the point slope form and solve the equation we
get

y=3=-2(x~(-1))

y=3= —2{x+l] By distributive property a(b+c¢ )= ab + ac
y—3=-2x-2
y=3+3=-2x-2+3 Adding 3 on both sides
y==2x+1

Hence the required solution is in the form of slope intercept form |y =-2x+1

Answer 71PA.

MNeed to find the what conclusion can you draw from this activity

Consider the three different pairs of points from the graph write the slope intercept form of the
line using each pair

Draw the graph




L\

0 49 8 7 £ 5 4 3

Consider the different pairs of points are
A= [—1,3}~B = [[]J),Cz(l, -I]+D[2$~3)
Findthe 4B and AC and AD

First we find 4B slope

Slope formula

po— 3
m=J2 ¥
X, =X,

Substitute the values x, =-1x, =0,y, =3,», =1 in the slope formula solve the equation we



m= Y=
X=X
= 1-3
0-(-1)
-2
m=-—
|
m=-=2

Now the slope the line pp=-2

Slope intercepts form in the form of y=mx+b

Formulae of point slope form  y -y, =m[x—x,)

Substitute the values x, =—1,y, = 3,m =-2 in the point slope form and solve the equation we
get

y=3=-2(x—(-1))

y=3= —2(x+l] By distributive property a(b+c¢ )= ab + ac
y—3=-2x-12
yP—34+3=—2x-243 Adding 3 on both sides
y=-2x+1

Hence the required solution is in the form of slope intercept form y= -2x+1

Mext we have to find the 4 slope

Slope formula

Fo— 3k
m=22"M
A =X

Substitute the values x, =-Lx, =1,y =3, y, =-1 in the slope formula solve the equation we
get



m=
Xy — X
o _-1-3
1-(-1)
. |
m=—
2
m=-2

Now the slope the line pm=-2

Slope intercepts form in the form of y=mx+b
Formulae of point slope form y -y, =m(x-x,)

Substitute the values x, =—1,y, =3,m=-2 in the point slope form and solve the equation we
get

y=3=-2(x~(-1))

y=3= -2(x+|] By distributive property a(b+¢ )= ab+ ac
y=3=-2x-12
y=3+3=-2x-2+3 Adding 3 on both sides
y==2x+1

Hence the required solution is in the form of slope intercept form m

MNext we have to find 4 slope
Slope formula
= Fa=¥
X, - x
Substitute the values x, =-1,x, =2, =3, », = -3 in the slope formula solve the equation we

get

mzyz_y:
Xy =X
-3-3

m==2
MNow the slope the line = -2

Slope intercepts form in the form of y=mx+b
Formulae of point slope form  y -y, =m{x—.r,]

Substitute the values x, =—1,y, =3,m =-2 in the point slope form and solve the equation we

get
y-3=-2(x—(-1))
y=3=-2(x+1) By distributive property a(b +¢) = ab+ ac
y—3=-2x-12
y=3+3=-2x-2+3 Adding 3 on both sides
=-2x+1

Hence the required solution is in the form of slope intercept form

Hence the required solution the equations are related to slope intercepts form equation and the
slope of the equation all the equations are same



Answer 72MYS.
Consider yintercept point —§
Slope of the point =2
Slope of the intercept form y=mx+ b

Formula of point slope y =mx+b

y=(-2)x+(-5) Replace m by =2 and b by -5

Hence the slopes intercept form of equation |y =-2x-5

Answer 73MYS.
Consider the slope point [—2,3:}

Slope of the point jp =3
Slope of the intercept form y=mx+ b

Formula of point slope y -y, =m{:r-x,}

y—4=3(x-(-2))

y—4d= 3{1 + 2} By distributive property a(b+¢) = ab+ac
y—4=3x+6
v=4+4=3x+6+4 Adding 4 on both sides
y=3x+10

Hence the point slope equation [y =3x+10




Answer 74MYS.

Need to find the slope intercept form of an equation passes through the point
Given that the point (2,-4) and (0,6)

Slope intercepts form in the form of y =mx+b

Point slope form y—y, =m(x-x,)

Find the slope

m=22"n
Xz =X
6—
()
0-2
6+4
m=—
-2
10
m=—
=2
m=->

MNow substitute the value [2,—4] in the point slope equation

y—(—4)=-5(x-2) By distributive property a(b +¢) = ab + ac
y+d4==5x+10

y+4-4=5x+10-4 Adding —4 on both sides

y=5x+6

MNow substitute the value [{},ﬁ] in the point slope equation

y—-6=-5(x-0) By distributive property a(b+¢) = ab+ ac
y=6==5x-0

y—6+6=-5x+06 Adding 6 on both sides

y==5x+6

Hence the required solution the slope intercepts form of an equation of the line that satisfies
the point



Answer 75MYS.

Need to find the slope intercept form of an equation of line that satisfies the condition
Consider a horizontal line through [l,—l}
And slope m=0
Slope intercept form y = mx+ b
Point slope form is y -y, =m(x-x,)
Substitute the values we get
y=(=1)=0(x-1)
y+1=0
y=-1
Hence the required solution is slope intercept form equation satisfies the horizontal line

y=-1I

Answer 76 MYS.
Consider the equation 4g-5=15
MNeed to solve the equation

Adding 5 on both sides

da-5=15
da—-5+5=15+> Adding 5 on both sides
da =20 Combine hike terms
a=>5 Dividing both sides by 4

Hence the value of a for the given expression is [ = 5]-
Answer 77MYS.

Consider the equation 74+3¢=-11
Need to solve the equation

Adding —7 on both sides we get

T+3c=-11
-1+ 7+3c==11-7 Adding —7 on both sides
3c=-18 Combine like terms
c=—6 Dividing both sides by 3

Hence the value of ¢ for the required equation is [ = —6].



Answer 78MYS.
Consider the equation %p—ﬁ =14
Need to solve the equation

Adding ¢ on both sides
2

Ev—6+-:-=14+:'- Adding 6 on both sides
2 N
Eu= 20 Combine like terms
2v=180 Multiplying both sides by 9
v =90 Dividing both sides by 2

Thus the value of v is for the given expression is _

Answer 79MYS.
Evaluate the equation (25-4) -&[ZE2 - 13}
Solve the equation we get
(25-4)+(2*-1)
21+(4-1)
21+3 Divided by 3
7
Hence the required solution is

Answer 80MYS.
Need to find the multiplicative inverse of each number

Given that the multiplicative numberis 2

The reciprocal of x is 1
X

To find inverse of multiplicative number

2=2"

Hence the required solution of multiplicative inverse number is
2



Answer 81MYS.
Meed to find the multiplicative inverse of each number

Given that the multiplicative numberis 10

. 1
The reciprocal of x is —
X

To find inverse of multiplicative number

10=10"
1
10

Hence the required solution of multiplicative inverse number is
Answer 82MYS.
Need to find the multiplicative inverse of each number

Given that the multiplicative number is |

: 1
The reciprocalof x is —
X

To find inverse of multiplicative number
1=1"
=]

Hence the required solution of multiplicative inverse number is

Answer 83MYS.

Need to find the multiplicative inverse of each number
Given that the multiplicative numberis
To find inverse of multiplicative number
-1=-1"
= -]
Hence the required solution of multiplicative inverse number is E

Answer 84MYS.

Need to find the multiplicative inverse of each number

Given that the multiplicative number is %

The reciprocal of x is l
X

To find inverse of multiplicative number

Hence the required solution of multiplicative inverse number is



Answer 85MYS.

Need to find the multiplicative inverse of each number

Given that the multiplicative number is _é

. o
The reciprocal of x is —
X

To find inverse of multiplicative number

Hence the required solution of multiplicative inverse number is

Answer 86MYS.
Need to find the multiplicative inverse of each number

Given that the multiplicative number is %

. s 1
The reciprocal of x is —
X

To find inverse of multiplicative number

20

2
5

Hence the required solution of multiplicative inverse number is

Answer 87MYS.

Need to find the multiplicative inverse of each number

Given that the multiplicative number is _%

The reciprocal of x is L
X

To find inverse of multiplicative number

Hence the required solution of multiplicative inverse number is




